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M.Sc. DEGREE EXAMINATIONS,
NOVEMBER/DECEMBER 2010,

FIFTH SEME@TER
SN
COMPUTER TECHNOLOGY
XCS 352 — THEORY or ‘COMPUTATION
(Common to Information Technology, Software Engineering)
(REGULATIONS 2007

Time : Three hours ) Maximum : 100 marks
Answer ALL questions.
PART A=~ (10x2=20 marks)

1 Describe Transition system.
2. Define acceptance of a string and language.
3. Define CFG with example

4. Give an example of a language accepted by a PDA but not
by DPDA.

5. Isit possible that a TM could be considered as computer of
functions from integers to integer? If yes, justify your
answer.

8. When is the technique of shifting over useful?
When a problem is said to be decidable?
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9. Differentiate NP hard and NP complete probl

10. What is called as modified PCP?

PARTB—(5x 16= 80 marks)

11. (@) Define NFA mathematically. Explain it
and function. Convert the given Fini
into its Deterministic équivalence. Ex
used. Taking suitable example and pro

the same string.

Or

®» @ Ulisa set accepted by an NI
that L is accepted by a DFA.

iy If L is a set accepted by
o - transition then show that |
an NDFA without e- transition
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13.
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Design a PDA which accepts all string
can be derived from the following Gr
Taking a suitable example verify the m:

S > aBbA
A > a/aShAA
B - b/bS/aBB

Prove that accéptance by empty stack
final state is equivalent.

Or

Construct a PDA for the language
L={wwR/w in ((‘Htl)”}

Find a grammar in CNF equivalent to
S — aAD;

A —> ab/bAB;

B-ob;

Dod

Design a TM to compute proper subtraction n

: C
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15.
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Design Turing Machine to recog
palindromes of digits {0, 1}. Give its state

Diagram also.

Prove that Halting problem is undecidable
Or -

Write the design pr'écedur;a of shift reduce

taking a suitable exam'ple‘. '

Explain NP hard and NP complete probler
Or

Explain why; PEIP with two lists x
y = (0101,10,11) has no selution. What °

: PCP problem?





